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«Учитесь 
тайны открывать!»



8м = … см             
3м = … дм
5м 3дм = … дм      
4 м 2дм1см = … см



8м = 800 см             
3м = 300 дм
5м 3дм = 53 дм      
4 м 2дм1см = 421 см



 
 
35 – 7 = 49 – …        
 5м 4 дм = 54 дм
 534см = 5 м 3 дм 4 см             
 905 – 49 = …
 2 + 9 = 9 + …           
 98 - 45 … 25  + 67
 23дм = 230 см              
 9м 2дм 4 см = 924 см



 2м 4 дм = 24 дм
 25 – 24  = 1 (дм)
 
Ответ: синяя проволока 
длиннее красной на 1 дм.



«Учимся 
тайны открывать!»



МОЛОДЦЫ! 
 УСПЕХОВ ВАМ В 

ОТКРЫТИИ НОВЫХ ТАЙН!


